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Memory to solve an instance
(SAT answers, category N-ARY-EXT)

1e+06 ; ; ; . T
900000 |- s .
el
800000 .
700000 |- 3 8
3 P
600000 |- : : -
i W
500000 |- ; g
400000 | o .
300000 || ! .
200000 |- | — .
! ! X \
: i s v
100000 |- 3 B :A,j J__,_.‘
0 : TN i " ‘iﬁf ' N
0 50 100 150 200 250 300

number of solved instances

Abscon 112v4 AC —+— Conquer 2009-07-10 4~
Abscon 112v4 ESAC — ~ Mistral 1.545 —a—
bpsolver 09 ------ pcs 0.3.2 v
Choco2.1.1 2009-06-10 & pcs-restart 0.3.2 ---v---
Choco2.1.1b 2009-07-16 SAT4JCSP2.1.1 <
Concrete 2009-07-14 ----¢--- Sugar v1.14.6+minisat
Concrete DC 2009-07-14 - - Sugar vi.14.6+picosat —=—

X




